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% Multiple Choice Questlons -

1. Which of |ng IS a biotic components
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9. Which one aANSpe

a. Stone Reading gIa 4 Wax paper

10. Light is a form G

a. A circular disk . , . Ice-cream condy
12. Shadow is formed by

a. Energy
11. Whie

a. Transparent object b. Translucent object c. Opaque object d. All of these.
13. Combination of two or more cell in series is called

d. A ball

a. Dynamo b.Transistor c.Battery d.Insulator

14. Filament of electric bulb is made up of




a. Tungsten b.Iron c.Copper d.Aluminum

15.Which one is not a good conductor of electricity?

16. Closed and continous path of electric current is called

a. Resistance
17. Whlcjr’ 0

a. Copper b.Silver c.Plastic d.Graphite
Clrcmt c. Connector
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21. WhICh i biodegradable?
a. Orange peeM Auminium foi

22. To reduce ple
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d. AIIo

a. Burn it nimize its use

23. Example of household"garbage i '
a. Crockery pieces  b. Dal packets c. Vegetable peels  d. All of these.
24. A person who separates articles into various categories and sell for recycling

a. Vegetable seller  b. Kabadiwala c. Factory worker d. House-cleaner




« Fill in the blanks.

(1) Saline water, hot air and sand are Abiotic components of a habitat.
(2) The habitat of plants and animals that live in Water is called the aquatic habitat.
(3) Adaptations enable a plant or an animal to live in its surroundings.

(4) Plants and ani at live on land are said to live in Terrestrial hablta

W
(5) The pre ecific features, which enable a plant or animal to live in a habitat, is

X

In of an ect or a part of it around a fixed })omt is known as ¢ M’notlon
ody rem?tmg its moti@n after certain ln&aﬂof time is in_periodic motlaﬁ\

ectiline@r motion, object moves along as’cralqht li
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unit ofd@ngth is metre.

bitats of plants an als that live in water are calle ic habitat
and air arestfe‘abiotic factors of a habitat.
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; eal ill have pole/pol
(19 M is.more near its ends, ‘}.(&

(20) Th
(21) Paper

(1) Electric current can olgh ztals.[T]

(2) Instead of metal wires, a jute string can be used to make a circuit.[F]
(3) Electric current can pass through a sheet of thermocol.[F]

(4) A cylindrical magnet has only one pole. [F]

(5) Artificial magnets were discovered in Greece. [F]

(6) Similar poles of a magnet repel each other. [T]

(7) Maximum iron filings stick in the middle of a bar magnet when it is brought near them. [F]
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(8) Bar magnets always point towards North-South direction.[T]
(9) A compass can be used to find East-West direction at any place.[F]
(10) Rubber is a magnetic material. [F]
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i. Polar regions

y Fores

c. Sm ic S : . kilogram
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Column A
UMOA
a. Moon I. Translucent b
b. Sun ii. Opaque
c. Brick iii. Reflecting surface
d. Mirror iv. Luminous

e. Tracing paper

\v. Non-luminous
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(@) — (v), (b) = (iv), (c) — (ii), (d) — (iii), (&) — (i).

Column | Column 11
(a) Magnet attracts (i) rests along a particular direction
(i) iron

(iii) by another magnet
(iv) iron fillings \
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ctlonq’r@Egan or organ
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ocean.

U€img offspring of their own kind

(b) leaves can float on the surface of water.
Ans. (a) Leaves are narrow and ribbon like.
(b) Stems/stalks of leaves are long, hollow and light.

6. Mention one adaptation present in the following animals:
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(@) In camels to keep their bodies away from the heat of sand.
(b) In frogs to enable them to swim.
(c) In dolphins and whales to breathe in air when they swim near the surface of water.

Ans. (a) Long Iegs and puffed feet

(b) Webbed feet
(c) Blow h‘ nder developed Iun%YAN SNAS \\
L
f p
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Answer: Similaritie

Differences: - Cycle OVe In rectilinear motion.
13. Why could you not use an elastic measuring tape to measure distance? What would be some of
the problems you would meet in telling someone about a distance you measured with an elastic
tape?




Answer: Elastic tap will not give accurate measurement because it stretches in length and reduces in
size when not stretched. While telling the measurement taken with an elastic tape. We have to tell
whether the tape was stretched and by how much. This is very difficult.

14. Give two examples of periodic motion.

Answer: Example of periodic motion-

())Pendulum
(i)Child on the s .
15. Observetthe pigtlre given in Fig. 11.6. material is placed a itigns P, still
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17. Look at the figure given in Fig. 11.8.
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Fig.11.9

The shape of the shadow obtained in two positions is shown in Fig. 11.10.
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Fig. 121.10

Match the posmon of the torch and shape of the shadow of the ball.

v, ?‘deAN SNAsirA’ \\

If the @figle nC|dent r&%maller the shadow is longer. On the o@ hand, if th
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=
e
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\
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Ans. In arrangement A, the cell will be used up very rapidly.

23. Fig. 12.5 shows a bulb with its different parts marked as 1, 2, 3, 4 and 5. Which of them label
the terminals of the bulb?
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Fig. 12.5

Ans. Labels 3fan ark the terminals of the bulb.
Questio
home?
Answ
That i
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Nk

MNsxAR 0“‘

Fig. 13.4

(i) Which regigns.o

(i) These regior

Question 28. Write any two properties of a magnet.

Answer: Properties of magnet:

(a) Attracts object made of iron, nickel or cobalt.

(b) freely suspended magnet always directs north-south direction.
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Question 29. Where are poles of a bar magnet located?
Answer: Poles of a bar magnet located at its two ends.

Question 30. A bar magnet has no markings to indicate its poles. How would you find out near
which end is its north pole located?

Answer: To Iocate its north pole, we would do the following steps:

uspended freely from the middle with the help of threa
to comes into rest.

(i) Abarista
(ii) Allow t
(iii) The N fthe magnet will fac rt tion and South pole
directio QIKN WA S/r
(iv) t e north pole oft EEt with-the marker. . 4J9
st ou are an rril ’Ip How will you make it into a mag&g \

J\

eps to e an iron strip into bar agnet P
|
U"

e south

Qu

) at strlp ot?on Is taken.
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l)

en you.iched the end of the strip, lift themagnet

tally onIy in one d|
ubbing fi@m the i

is proc is repeated m

r this, erron strip will & ' .‘
' o
an 32. F@the it ghs 1'and atedlgcess in

lumn 111

coltmh | '@Jmn I
(awQrga a Ea%rms ;

(b) Dig pit a"?}gb ith garb
(c) Old paPe ags

Ans. (i) vermir‘g

(i) garbage d

"O

(iii) recycle

33. Correct the definitions of certain terms given below by changing only one word.
(i) Compost: Substances converted into manure for use in industries.

(if) Landfill: Garbage buried under water in an area.
(iii) Recycling: Reuse of unused material in the same or another form.
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Ans. (i) change industries by fields or agricultural fields
(i) change water and write soil
(iii) change unused by used

34. Provide the suitable term that expresses the meaning of each of the following statements.
(a) Greeting rM from newspaper. \

(b) Content: aste bins.

(c) Worms ganv,

in kinds of wastg | .
lot 3?32%53‘{';&”& A et s oo i s

ing v""\ = - %o
g o:-? “2 ' Q% \

rmicomposti
&,

(d) An

ADnS.

(b)
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g smellypgarbage

r
) leaves collected in a garbage

i) newspapers

| ol
S Convéin‘to compost. , ‘ .Q(
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i) cletizg nd afts.
o oy
Sy
- /oS

v
i

:
e
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Ans.ShecanL‘e doing rough work or convert it i
handicraft items. :

LT,
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her

o
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37.(a) Collect p Lof these c@n be re

(b) With the help of g ¢
see any diffe 210 the mate

Answer: (a) Papers without having plastic coating on it can berecycled.

(b) The recycled is slightly yellowish in color than the new sheet of paper. Recycled paper is also
rough and of low quality than new sheet of paper.

38.(a) Collect different kinds of packaging material. What was the purpose of which each one was
used? Discuss in groups.
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(b) Give an example in which packaging could have been reduced?
(c) Write a story on how packaging increases the amount of garbage.

Answer:

(@)

Paper packet od items.

‘w‘Rp\YAN sNASir,., \\
"P

(T &

-~
; . R
G
p ople stzﬁ‘&d carrying their own carry JZ?S foqLuylng groceries and vegetab‘l%s and fr
re will be no need forfpacking those m erla.ls' by usin thus the g;lckagl
ve beehr educed

kagingdincrease the amo s ones the prodygt is deli
utilis These useless pac just add Ioa& to the

b e. Man ckaglng mat an't even ber Iastlcs
nblodqgmdabl ;

ou thlnkﬁs a better to us

g A
AnswWer: ¥es thm%better
@M1 ent frlengg?g add natur
dverse eff cft;? atlre a
SO

(i) It 't creates no po
n are al

(iii) Th‘ BQRO‘I
@iv) Itis acmical fertlllser
(v) Soil wi :

ility if we use compost.
% Long Questic

1. Like many anima
reasons.

UMDz
-
Ans. Both living organisms and car rEe but the difference i%at living organisms move on their

own as they have life. But car is a non living thing which is operated by an individual. It requires
fossil fuel to move . Another reason that proves that car is not a living thing is the absence of life
processes like respiration, reproduction, excretion, ingestion, growth etc which are the
characteristics of living things.
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2.What are the adaptive features of a lion that helps it in hunting?
Ans. Adaptations of lion which helps it to easily catch its prey are as follows:

(@) The colour of its body and mane is brown which helps it to hide amongst bushes and open area
thereby avoid detection by its prey.

(b) Eyes placed Wallow it to know the exact location and movements rey

d long claws enable it to catch and kill the prey.

(d) Its ach to catch |t pﬁeﬁlﬁ‘o‘& nec§aMﬂﬂn’%lts front canln
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- at?
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of muslin cloth and that of a transparen

formed in each c
reasons for y

ZMmmzEn®e

Fig. 11.12
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Ans. The sheet of plywood is an opaque object and will form a dark patched shadow on the screen
because it completely obstructs the path of light.

Whereas the piece of muslin cloth ias a translucent object and will form a lighter shadow because it
allows light to pass through it partially.

The transparent glass will allow the ray of light to pass through it and hence does not form any

shadow.
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ways tom AN SN
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9. Fig. 12.10 A and B, show a bulb connected to a cell in two different ways.

Hw
Q to

ng t

ns. i)In case'&Flg 1 curr
will be from P to Q ,
ctrie cell. &

, becaliSe circuit is com |
;s ‘ '(
~ . 2
shown in F|§3 8. .
Py

the dlrectl current through the bulb in botﬁlvéses

" Fig.12.10 \?P»“" AN SNASfrA \\\

bulb in both the‘cé@ !
he br| ess of the glging bulb d p&

t flowing will be from Q to P. whereas in case of FTd‘Z curre
S current alwaysfl_o‘vxg'from positi gative tegnnal ofthe

the direction of current'%)ugh it

i) Y,

Will th ‘e
activity t

Ans. Yes,The

This can be proved by doing the test g; repulsion. If we bring'the north pole of the left magnet
towards the red end of the right magnet then they will repel. Which proves that the red end of the
right magnet is north pole and hence getting repelled by the north pole of another magnet.
Therefore, the two pieces act as individual magnets.




11. Suggest an arrangement to store a U-shaped magnet. How is this different from storing a pair of
bar magnets?

Ans. U shaped magnet ( similar to a horse shoe) is stored by placing a metal plate across the two
poles of the U-shaped magnet so that the magnetic field remains within the magnet.

YAN SN
apfH As;rq i
Bar tored by pl qb\wo metal plates and one woode <bas per
The ock WI|| nt the interaction between the bar magnets &
v ’ -~

\ R 4 '
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odour e atin
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S. THIS job is qu @lskyf posed to har Tsubsta
i y many ses caused by I mmro@n sms.

If cow in

and
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K\dkﬁn death

i generated WhICh start rottlng and cau
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(b) Plasti -1 'degradable ve
chockt‘i ystem which Ie%@(cg

(c) Large quanti
removed from e

|t WI|| soon

e elog? fm”fﬁ“
Ans. The paper pulp can be solidified®dy using plaster of Pari&r a layer of clay over the layer of

paper pulp. The structure of paper pulp can also be covered by a layer of cement to solidify it. This
is also known as papier-maché ,its a paste of paper pulp and clay to form toys and boxes.
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14. Recently, a ban on plastic bags has been imposed in many places? Is the ban justified? Give
reasons in three sentences.

Ans. | strongly believe plastic bags must be banned as,

They are often used to fill garbage in them and are thrown away in the open. It proves fatal for the
stray animals which consume this.

Plastic bags t owlessly end up in the drains and finally choking them

They glve I gases on heating or%gg \&ﬂéjauses resplratory pr also
result i on Therefore ‘&ﬂﬁt& ned &ﬂs A)g plastic bags \

cotto per or jute bags. N
v@

\L-
ouId t burn plastic items?
’nﬂng of I h atmosphere leading to al Iutlo
dlsease he burnlng rocess is not that and the burnt particles may eaten up
|m which may choke thefr system and cause th death. The articles are toxic a

oil pollation.
|

at haergs when

| ticide
c) Tealeaves, g.;ons

I clogst oresinthes

mlcrobe

(C)

17. AnS

(a) Why shoul‘ e pape e b3

(b) Who, out of QM dISpO 1 g :
younger siste ﬁ

(c) Which one 0 s, roundworm and eart;iw re ‘ S :

(b) Every member shotld'de

(c) Earthworms. They convert waste from plants and animals or their product into compostand
therefore known as farmers friend.

18. Discuss:

(@) Is garbage disposal the responsibility only of the government?
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(b) Is it possible to reduce the problems relating to disposal of garbage?

Answer: (a) No, garbage disposal is not only the responsibility of the government. It is sole
responsibility of both government and the people.People should not litter at public places. They
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